257 ®nEk

y—5&® AUPSX(2BH)
HREAE)—TEE. BRI —F AV 65— L%E

H23.11.25(%&) #UpRABET=Xa—k

A5Y—4 1 2 3 4 BE | BETEAE Ef
o — — 4
1| &2 1 213 0 -1 1
(VT HH=R) 4 6|6 5|5 6|6 5|6 3|6 2 0.55
2 MIX 3™y 2 — 1 b= 20y ’ 2
7 6 4|5 6|6 5 6 3|3 6|2 6 0.4827586
O — 3 0O — 3 0
3 ARl)—DJ7x— 0 -2 3
56(3 6|2 6 3 6|2 6|0 6 0.3846154
. 2 — 1 3 — 0 5
4 LA R— 2 -0 1
7R 3 6(6 3|6 2|6 3|6 2|6 0 0.6734694
¥ ASY—JIIZER) =5 DA, 2F—LHEIHK () DIGEEEXRIEERELEL
AB!)—% 1 2 3 g | RENROR | IEf
Y's + P 1T — 2 1T — 2 2
; , 0 - 2 3
(TeamY’s/Peanuts) 16 | 2 6 | 6 5|1 6/6 3|0 6 0.333
HTLSAhY 2 — 1 0o — 3 2
2 -7 1 -1 2
(T5vY) 6 1|6 2|5 6 3 6/2 6|0 6 0.449
2 — 1 3 — O 5
3 Owk 2 -0 1
Frh 6 1|3 6|6 0|6 3|6 2|6 0 0.733

X A6Y—T[Z2F— LA RIBB OGS FEETRTRDS




NE LA b—F A2 b

LT IV —T &R

FrOvk
Fravhk
Ea7 2-1
(VT hH=R) 36 61 61
2-1
LA— 64 36 63
2610 IL—T B 1% LY IL—T B
MIXF A7yt  — R I fp— ——
e Y's+P
91 MIXZF-4) 91 (TeamY’s/Peanuts)
HTLoAhY 46 63 62 Y's + P 62 16 61

(T3vY) (TeamY’s/Peanuts)



